INSTALLATION INSTRUCTIONS

1822 - TO SUIT TOYOTA RAV4 3 DOOR 07/2000 to 01/2006

PLEASE READ INSTRUCTIONS THROUGH BEFORE YOU BEGIN

HAYMAN

WARN

1
2.

N =

ook

ING:
Do not, drill, cut weld or otherwise modify the towbar.
If you are using electric welding on a motor vehicle, always check that the vehicle is not equipped with
electronic engine or instrument management equipment. Failure to do so could destroy any onboard
computers. If in doubt, check with the vehicle's manufacturer.

Ensure all hardware items have been included.

Remove and discard shipping hook and bolts from passenger side.

Lift towbar up into position. Insert loose plate in between towbar and chassis, fit four
M12x35 bolts 1.25 pitch, spring washers and flat washers as per diagram.

Tighten all bolts to torque listing below.

Refer to diagram for correct positioning of lug, (lug to be facing downwards).

Towbar rating sticker to be conspicuously located on inside rear end of the driver’s door.
(see diagram below)

RECOMMENDED ASSEMBLY TORQUE LISTING

Diameter Grade 8.8 Bolt
Nm

M6 9.5

M8 21.7

M10 43.4

M12 77.3

M16 189.8

FOR TOWING PURPOSES ONLY
For towing capacity details please refer to
vehicle owner’s manual or to the POSITION OF TOWEAR
manufacturer. Overloading can void your RATING STICKER
warrantiec

NOTE:

Hayman Reese recommends that you check your towball to ensure it complies with the
Australian standard AS 4177.2.

PLEASE NOTE: Itis advisedto remove lug from tow bar when not actually towing so as to produce a
clear view of the vehicles registration plate if obscured, and to also provide increased departure angle




1822 - TO SUIT TOYOTA RAV4 3 DOOR _07/2000 to 01/2006

2 - LOOSE PLATE
(39 x6 x147)

4-M12x351.25P BOLT
4 -M12 S/WASHER
4- M12 FLWASHER

1-LUG 7600

2-M16 x45BOLT
2 - M16 S/WASHER







